TRIGONOMETRIC FUNCTICNS /PROGRAMMING PROJECTS |
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A run of this program using Microsoft’s MBASIC is 55 i b 0
i

given. This particular Basic interpreter handles the | ]
SIN of small numbers quite well and doesn't cause i
trouble until the value of 8 is less than LOE-38 (a [ _*
decimal point followed by 37 zeros).

The program given depends on an adequate oy ) B SR DERIE
dynamic range in sasic’s handling of floating | 1 (=1 vs'= 1ty T
point arithmetical operations. It is well to AR P LB
remember that before you can use any
mathematical operation in sasic with confidence,
you need to be aware of the range of numbers it
can handle accurately.

Remember that a variable name alone, such as
X or TREND will automatically be single precision

(i.e. capable of storing no more than seven digits). 4 S
Alternatively, variables can be specified as, or : 1339393,3141391 14
changed to, single precision by appending an | « $3933315, 3113114
exclamation mark, as in X! or TREND!. Double | |, Aot
precision variables (which can store 17 digits) are 19 99193803948, 744
specified by appending a hash sign, as in X# or 2 oz B
TREND#. Integer variables (which can store only | | ALk
whole numbers) are specified in many versions of | 1/

asic by appending a per cent sign, as in X% or |

TREND%.

We end this article with a short program that
lets you test how many digits can be stored in a 3
variable in your version of sasic, together witha | "
print-out of the program when run using s
Microsoft sasic. There are two versions, one for
testing small numbers and one for large ones. The ¥
print-out for small numbers shows that as the
numbers become very small (less that 3.3 X 10E- | 1

15 A D424
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38) Basic rounds the numbers off to zero. For | ! ; et :
large numbers (greater than 3.3 X 10E37) an =2 L 701411 83460468901 94 70015439

overflow occurs and the results are unreliable, If
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